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� A number, m, is rounded to 1 decimal place.
The result is 9.4

Complete the error interval for m.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . - m < .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

(Total for Question � is 2 marks)

��� Freya writes down the value of x, correct to 1 decimal place. 

She writes x = 6.4

Complete the error interval for x.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . - x � . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question � is 2 marks)
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� The leQgWh Rf a SeQcil iV 128 mm cRUUecW WR Whe QeaUeVW millimeWUe.

CRmSleWe Whe eUURU iQWeUYal fRU Whe leQgWh Rf Whe SeQcil.

. . . . . . . . . . . . . . . . . . . . . . . . . mm  leQgWh . .. . . . . . . . . . . . . . . . . . . . . . . mm

(7RWDO IRU 4XHVWLRQ � LV 2 PDUNV)
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��� Martin used his calculator to work out the value of a number P. 
He wrote down the first two digits of the answer on his calculator. 

He wrote down 1.2 

Complete the error interval for P.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . - P � . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question � is 2 marks)

� The length of a football pitch is 90 metres, correct to the nearest metre.

Complete the error interval for the length of the football pitch.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . m - length � . . . . . . . . . . . . . . . . . . . . . . . . . . . . m

(Total for Question � is 2 marks)
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